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WarmUp: Use a counterexample to show

cos(a+ ) = cosa +cos 8

o=1 Cos(-gfg #cosl sl

2 F
b= ) 7 0+%
-2 , .
z 4 &
of=1L b

3 cos(ly 33 £ Cos(%)’rms(@)

6: 21\

a—

3 —] 7&3—";",




May 10, 2018

Sum and Difference Identities

OR:

cos(a+ B)=cosccos f—sinasin B

cos(a— B)=cosccos B +sinasin B

sin(o+ ) =sinocos B+ cosasin 3

sin(or — ) =sinoccos f—cosasin 8

cos(a £ B)=cosccos f Fsinasin B

sin(o + 8) =sino cos B £ cosarsin
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Ex1: Find the EXACT VALUE.
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Ex2:

Find the exact value.
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Ex3: Prove sin(@):cos(g—H)
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Ex4:
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and d < v < 71, find the exact value of sin(u < v)

1 .1
an _
(ﬁ) FSinv=|

sin(wrv) = Sin\A'cDSV F CoSu SinV

”S IFGERE
TR
B WS v

i\




May 10, 2018

JU

EX5: Givesin 0 = 1 an( < 6 < — ,find
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What if a and 3 are equal?

sin(a+a) =

cos(a+a)=
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Exé6:

Prove cos(o+ f3)—cos(a—ff)=-2sinosin
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Ex7: Prove cos(
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Ex8:

Prove

tan 0
1+secH

1+sec@
tan @

=2csch
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Assignment:

page 889 #14, 15, 19, 25, 28, 35, 38

page 897 #13%, 14, 317, 34*

“Only find and
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